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3.44 *(Dawid et al. (1973)) Consider n random variables z1, ..., &y, such that
the first £ of these variables has an £xp(n) distribution and the n—£ other have
a Exp(en) distribution, where ¢ is known and £ takes its values in {1,2,...,
n—1}.

a. Give the shape of the posterior distribution of £ when #(£,n) = w(£) and
show that it only depends on z = (z2,..., za), with 2zi = zi/x1.

b. Show that the distribution of z, f(z|€), only depends on &.

c. Show that the posterior distribution m(£|z) cannot be written as a posterior
distribution for z ~ f(z[¢), whatever w(£), although it only depends on z.
How do you explain this?

d. Show that the paradox does not occur when (€, 1) = (€)'
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;}3.51 In relation to Example 3.5.7, if £ ~ B(n,p), find a prior distribut' '
such that 7(n|z) is Neg(z,p).
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